
7

6

5

3

4

3

2

1

3

8

9

7

ITEM NO. QTY. PART NO. DESCRIPTION
1 1 7000-3842 COPPER GROUND BAR
2 4 4400-6 1/4" - 20 X 7/8" STAINLESS THREADED ROD
3 12 3872 RED POLY INSULATOR,7/8" X 1-1/4"
4 4 4400-5 1/4" - 20 X 1/2" STAINLESS THREADED ROD
5 1 7000-3842-PLEX COVER, PLEXIGLASS
6 4 4710 WASHER, 1/4" NARROW, SST
7 8 4400 BOLT, 1/4" X 1/2" LG HEX, SST TAP
8 2 3880-1 STAINLESS STEEL STANDOFF
9 4 4714 WASHER, 1/4" RGLR LOCK, SST

REVISIONS
DESCRIPTIONREV.

APPROVALS DATE

PRODUCT NO.

DRAWN

CHECKED

ENGR.

ISSUED

TITLE

SIZE
A

SCALE SHEET

REV.DWG. NO.

WEIGHT

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES. 
TOLERANCES ARE:

FRACTIONS   DECIMALS    ANGLES
  ± 1/32           .XX   ± .XX       ± 1 °
                      .XXX ± .XXX

DO NOT SCALE DRAWING

FINISH

MATERIAL

DATE APPVD

MANUFACT. NTS 1 OF 1

A

9/30/2002

A       RELEASED                                                                                                                                             XX/XX/XX

800-950-7933
FAX 940-455-2817

www.advancelightning.com
sales@advancedlightning.com

122 Leesley Lane
Argyle, Texas

76226

3842

5.9
NONE

GROUND BAR ASSEMBLYCDM 09/06/02

JMD 09/23/02

JMD 09/23/02

DMR 09/24/02

C W 09/30/02


